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First look at
PWA using phase space KKz mass
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PWA Results for J= 0,1 and background
Angular fit results
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Mass[KKn] = 1285 MeV

45000

40000

35000

30000

25000

20000

15000

10000

5000

— Thrown

e

e

L L 1
-08 -06 -04 -0.2 0

ASU

25000

20000

15000

10000

5000

Mass[KKn] = 1285 MeV

1

— Thrown

P IR S I VRN
-150 =100

L L1
=50

P B R SN
100 150

cos(9)

1.45 1.5
Mass(K'Kn?)/GeV




Mass[KKn] = 1285 MeV
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Mass[KKn] = 1285 MeV
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Mass[KKn] = 1285 MeV
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PWA Results for J= 0,1 and background
‘Mass[K*n'] fit results
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PWA Results for J= 0,1 and background
Angular fit results
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Mass[KKn] = 1375 MeV
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PWA Results for J= 0,1 and background
‘Mass[K*n'] fit results
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PWA Results for J= 0,1 and background
Angular fit results
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Mass[KKn] = 1405 MeV
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PWA Results for J= 0,1 and background
Mass|[K* "] fit results
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